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| CP(DM) = 9} 15%, TDN(DM) = 9} 82% (HIRINt=) |
(CP(DM) = 14-15%, TDN(DM) = 2} 73% (TMR)|
| X &H|(DM) = 3: 7 |
HISIN 2N RASNE) = NS 1.7-1.8% |
ALSSMY = 0.9-1.0kg |
MMNBTMR; 22 40%) = 9} 14kg |
18 MK NIB = 2 480kg
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|CP(DM) = ©f 14%, TDN(DM) = 9} 83% (HIRINIR) + NE |
|CP(DM) = 13—-14%, TDN(DM) = 2} 75% (TMR)|
| ;X sH|(DM) = 2: 8 |
HIRIN 2 MNFHRENE) = MB2) 1.9-2.0% |
| UIFBNZ = 1.0-0.9ke |
[MNF(TMR; 2 & 40%) = 2} 16kg |
24 MBA NS = 2 650kg |

SUSAT| [JERIMET ¢ ULUEIUAALL



Hi5S 1| | 33 9f

HISLAFE JtCh ZWE ) JpE] -) «[» E3 282 X7

TEREICECED

M{oLALE 2tTH ZNE ) tAtA] QU -3 M3o| HicoM Moy

SESY2| [LRIZET O U= ALY



15

HIS2 )|

30

HIK L)

Ngdc #Eos 13
[25(660kg) — 30(750kg) W)

® 53
b 24 e e g7 W2 gl ol o
o g “{tgg et




|CP(DM) = ©F 14%, TON(DM) = 9} 84% (HIRIN) + T |
|CP(DM) = 13-14%, TDN(DM) = 78% O|¥ (TMR) |
| sH|(DM) = 1.5 : 8.5 |
HIRIN2YNFRARUE) = NE 1.8% |
|
|
|

UL SMY = 0.8-0.6kg
| MMZYHTMR; 25 40%) = 14kg 0|0}
130 MY MBS = 2 750kg
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‘ CP(DM) = 2} 15% CP(DM) = < 14%,

TDN(DM) = 9f 82%(tl2})

CP(DM) = 9f 14%,

‘ ‘TDN(DM) = o} 83%(t2N)
CP(DM) = 13—14%, TDN(DM)

‘ ‘ = 2} 75% (TMR)

CP(DM) = 14-15%
TDN(DM) = 2} 73%(TMR)

‘ ‘TDN(DM) = 84% O1 (ML)
CP(DM) = 13-14%, TDN(DM)

‘ ‘ = 78% OIY (TMR)

| 3sHi(DM) = 3: 7 | | =sHiOM)=2:8

| [=ssioM)=1:9

HIINEYNB(AENE) =
M52 1.7-1.8%

NS YNNI (RE2NE) =
NIB32| 1.9-2.0%

HIRINSEXINZ(RAENE) =
NZ2 1.8%

| a5 = 0.9-1.0kg | | g smz = 1.0-0.9kg

| |gg95MT = 0.8-0.6kg

YNB(TMR; & 40%) =

MNZ(TMR; 22 40%) =
2 16kg

Qf 14kg

‘ MMZY(TMR; 22 40%) =
2f 14kg O|O}

18 M Mz = ot 480ke | |24MBA WIS = 2% 650ke

| |30maz Mz = o 750kg
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